
Cut Sheet

 

v1.0

1

3

2

 .26 

 .61 

 1.35 

 .24 
1/4-20 THD

 .26 

 .50 

  7/16" 
Head

 .59 1/4-20 THD

 .24 

Frameless Hardware Kit

1) Bolt, T CSTM, 1/4-20 2) Washer, Star, 1/4"

3) Nut, 1/4-20 

Part Number Description
FMLS-BHW Kit, 4pcs, Frameless Module Clamp Bonding Hardware, T-Bolt 

Property Value
Material 300 Series Stainless Steel

Finish Clear

Property Value
Material 300 Series Stainless Steel

Finish Clear

Property Value
Material 300 Series Stainless Steel

Finish Clear

ITEM NO. DESCRIPTION QTY. in Kit

1 Bolt, T CSTM 1/4-20 X 1.35" SS 4

2 Washer,Star, 1/4" SS 4

3 Nut, Flange Hex 1/4-20 SS 4

Frameless Hardware Kit


